S/ SeEAs HIR 2 2
MM AEHS U HS QLM ZH(ITEM) T (SIZE) AAE|ERQ | H|
H|_'|§ HZ — 2 = . = o = 1o T T o
3-01 3 108 3 ZAMMOfSHY (=X 2t MA 1500*600*770 EA 18 =35 2to|All
3-02 3 109 3. ZAMMOfSHY |9k} 590*660*1010 EA 36 =35 2to|All
3-03 3 110 3 ZZFMOfSIY (=] 2o MA 2100*600*770 EA 12 =3 Zo|A2
3-04 3 111 3 ZZFMOfSIY (=] Zoj2 MA 1500*600*770 EA 6 =3 Zo|A2
3-02 3 112 3 ZAMMOjsHY (o xt 590*660*1010 EA 48 =3 Z4o|A2
3-03 3 113 3 ZZFMOfSIY (=] Zoj2 MA 2100*600*770 EA 12 ZolAa 1
3-02 3 114 3 ZAMMOjsHY (o xt 590*660*1010 EA 36 ZolA 1
3-03 3 115 3 ZZFMOfSIY (=] Zoj2 MA 2100*600*770 EA 4 Zo|Al 2
3-04 3 116 3 ZZFMOfSIY (=] Zoj2 MA 1500*600*770 EA 8 Zo|Al 2
3-02 3 117 3 ZAMMOjsHY (o xt 590*660*1010 EA 28 Zo|A 2
3-04 3 118 3 ZZFMOfSIY (=] Zo|2 MA 1500*600*770 EA 15 Zo|Al 3
3-02 3 119 3 ZaMMOfstY (o xt 590*660*1010 EA 30 ZolA 3
3-05 3 120 3 ZoMMOstY [~z Hole 1500*500*720 EA 6 M|O|LpA
3-06 3 121 3 madMystel (o xt 600*545*817 EA 12 M|O|LpA
3-07 3 122 3 ZoFMOsIY [Sj0|E RE 1800*900 EA 1 M|O|LpA
3-08-1 |3 123 3 ZoPMOsHY |3 o 0| 3600*1050*730 EA 1 3ol Al
3-08-2 |3 124 3 ZoMMOfstY (oA Atmt 800*1050*29 EA 1 3ol Al
3-06 3 125 3 madMoystel (o xt 600*545*817 EA 14 3| oAl
4-01 4 126 4_Okstrlst = ABCjEt7| & B [1700*1500%800/1900 4 oSty st
4-02 4 127 4 _okstrjst O ASCHQRCH| A ) |1700%750*800*1900 2 ofstrfi st
4-03 4 128 4_Okstrlst W3 LY 1500*750*800*950 2 ofstrfi st
4-04 4 129 4 _okstrfst W A CH(ZRFCH) 900*750%800/1800 2 ofstrfi st
4-05 4 130 4_Okstrlst oFZ 7| A 1200*450*1800 2 ofstrfi st
4-06 4 131 4_orstryst MZE Ty 1700%1000 4 ofsfryst
4-07 4 132 4_orstryst gasc 2000*800*2300(AM & E Z 2| 212000*1000Z ) |2 orstry st
4-08 4 133 4_oFstryst £ 29} 1/2 Ot 2 okstryst
4-09 4 134 4 _okstrfst 0|54l 3I0|ERE 1800*900 1 ofstrfi st
4-10 4 135 [4_opetryet O|XHE 0| ) 500*500*800 10 oreret
4-11 4 136 [4_opetryet O RH(S ol B 500*500*800 20 orer et
6-01 6 139 3.333MOsY |EMNgEET 4200*1200 4 424
7-01 7 140 5_u2El ALEEZ AT 4860*1260 21 2o|A1,2,3511%

*1-1290| ZFE M2 ALLA Q| A AH(1-12-1)0f AFXAMC| PCEL(1-12-2)7} L3l Xl H|Fo 2 74 E.

*1-24 HAMMNEE SFH0|E(12-24-1) 171 + HHHE 0| 5(12-24-2) 17 + AO|EATZI(12-24-3) 47 + WEAT14(12-24-4)47 + AT RI(12-24-5)37 = TAE.
*2-18 ZEHE|0|E ME L= E|0]2(2-18-1) 47 + H|0|S(2-18-2) 27} + FL{AMEF (2-18-3) 47 + YXIC}2| (2-18-4) 271 + HZAD'H(2-18-5) 7} 17§ HIEE FME

* 2.20 ZEHE| 0|2 ME L E|0]£(2-20-1) 471 + H|O0|£(2-20-2) 271 + E{|0|£(2-20-3) 27 + LT (2-20-4) 471 + HZAT'D (2-20-5) 47§ 7} 17 MEE AT

*3-12 Fxf 2t2E MAo|0 3-42| 2018 SxfjMsar FUsH Y Eat HERFHE 2t2EHo R HYKH| WEE M= AHY.
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